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| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----—---- -
by the Keeping and use of animals.

1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --------==----- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——-----eeeeee-
to be used for the new dish.
1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other —---eeeeeeeee issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -—--- puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint -----eeeceeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (0 —==-—emmeemeee themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article

that said his company was —---—--—- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --——----—- ---=, 48 YOU can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ----------—--—- diabetes.

1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ——==——eem—— -, since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ====mmmmemmm- -- can thus defy any formula
(14) ~——mmemmmeee the matter. The number of people that Earth can support depends on
(15) ——mmmmmmmmv -—, on what we want to consume. and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

All ships must be able to control their speed and follow an intended course when in
transit. Additionally, when entering congested water-ways or harbours, they must be able
to position themselves accurately. Vessels used for oil drilling or extraction often need to
hold a particular position relative to the seabed with great precision. To achieve this, a
ship must have the means of producing ahead, and astern thrust, turning moments and
lateral thrust. The last two are provided by rudders of various types assisted. in some
cases, by lateral thrust units at the bow and / or stern. Ahead and astern thrust is usually
provided by the main propulsion system. Because rudders are usually sited close to the
propellers there will be an interaction between the two. Where more than one shaft is
fitted, a turning moment can be produced by going ahead on one shaft and astern on the
other.

The ease with which a vessel can maintain a straight course, or be made to turn, will
depend upon its directional stability. Sometimes this characteristic is known as the ship's
dynamic stability but should not be confused with dynamical stability. A number of



¥ axao 231F (IYOF 5) Al 5 lere pmwdie 48 900

16-

17-

18-

19-

20-

measures are used to define the manoeuvering characteristics of a ship. They are defined
and measured in still water conditions. The influence of wind. waves and current must be
allowed for in applying the data to practical sea-going conditions. Wind effects can be
very important especially in ships with large superstructures such as cruise liners and
ferries. Indeed strong winds may prevent a ship turning into the wind if it has large
windage areas aft. When operating close aboard another ship, close to a bank, or in
shoaling water, the ship experiences additional forces that may throw it off the intended
course.

This passage i ~—---=======n== .

1) an introduction to naval architecture

2) about the directional stability and control

3) a definition of the structure of a ship

4) about the ways ships use to determine their positions

Rudders in ships, according to the passage, --——--——-----—--,

1) usually interact with propellers

2) provide the main propulsion system

3) are the main means of producing ahead and astern thrust

4) are used to prevent a change in direction from the current path

Without the dynamic stability, the ship ---—--—----—-,

1) is not able to measure its position accurately

2) should replace the directional stability instead of it

3) may be impossible to control its course in a straight one

4) can't use dynamic forces to achieve the high speed

The drilling boats must keep a particular position —--—--eeeeeeev .

1) relative to its intended course 2) regarding to the sea floor
3) to prevent a sudden turning 4) not to face additional forces
The manoeuvering features of ships
1) have a great influence on the ships' construction systems
2) restrict their practical sea-going conditions

3) are usually measured in still water conditions

4) determine their speeds when in transit

PASSAGE 2:

Slamming is a high frequency transient vibration in response to the impact of waves on
the hull. The most vulnerable area is the ship's outer bottom between about 10 and 25
percent of the length from the bow. The impact may cause physical damage and can
accelerate fatigue failure in this area. For this reason this area of the outer bottom
should be given special attention during survey. Because the duration of the slam is

only of the order of 30 of a second, it does not perceptibly modify the bodily motion

of the ship but the ensuing vibration can last for 30 seconds. A prudent master will
reduce speed when slamming badly. This speed reduction leads to less severe
slamming or avoids it altogether. Lightly loaded cargo ships are particularly liable to
slam with their relatively full form and shallow draught forward. and enforced speed
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22-
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reductions may be as high as 40 percent. Slamming is less likely in high speed ships
because of their finer form.

Slamming is likely when the relative velocity between the hull and water surface is
large and when the bow is re-entering the water with a significant length of bottom
roughly parallel to the sea surface. It is amplified if the bottom has a low rise of floor.
The pressure acting in a slam can be shown to be proportional to the square of the
velocity of impact and inversely proportional to the square of the tangent of the
deadrise angle.

Which sentence, according to the passage, is NOT true?

1) The waves put some effects on the hull.

2) Slamming has no noticeable effect on a ship's bodily motion.
3) The higher speed ships have forms with higher quality.

4) Slamming is less in lightly loaded cargo ships up to 40 percent.
When slamming severely, the ——--—-—aeeeev,

1) master is responsible to inform the crew

2) ship's speed must be decreased

3) operator should keep ship's velocity changeless

4) ship's outer bottom has to be given more attention

The underlined word "liable" can be substituted by
1) inclined 2) consistent 3) resistant 4) slow

The square of the tangent of the dead rise angle ------—-eeee-

1) remains constant proportional to velocity between the hull and water surface
2) is directly proportional to the square of the velocity of impact

3) corresponds directly to the pressure acting in a slam

4) increases as the pressure acting in a slam decreases

It's referred in the passage that slamming -
1) lasts for just a few seconds

2) induces extremely high loads to ship structures

3) is frequency transient vibration accelerating the velocity of waves
4) is the main factor causing fatigue failure on the ship's outer bottom

PASSAGE 3:

Design development is not a smooth 'one-way' progression. As a simple example, the
power required of the main propulsion system cannot be finally decided until the shape
and displacement of the ship are known, but these depend upon the size and weight of
that propulsion system. Intelligent guesses, often based on a previous design, known as
the type ship, are needed in the early stages to ensure the first solutions are not too
wide of the mark.

The type ship is one which is carrying out most of the functions asked of the new
ship and which is judged to be close to the size needed. From this base the designer
can get a first approximation to the principal dimensions of the new ship. Allowance
would be made for different capacities, perhaps higher speed. a smaller crew and so
on. A feel for the size of the ship will be obtained from the weight or volume of cargo
to be carried. The type ship will then give a guide to the ratio of the dimensions but
these can be modified to give the form coefficients desired to give the desired
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propulsive efficiency, seakeeping and manoeuvering characteristics. The values of
ratios such as length to beam or draught must be checked as being within the usually
accepted limits. Absolute dimensions must be compared with limiting values for ports
and waterways the ship is to use.

From the principal dimensions first assessments of draughts, stability, power, etc.
can be made. Each of these will lead to a better picture of the design. It is an iterative
process which has been likened to a spiral because each ship feature must be
considered more than once and at the end of each cycle the designer should have
approached the final design more closely. Not all design features will be considered
during every cycle of the design process. Initial stability would be considered early on,
large angle stability would follow later but damaged stability would not be dealt with
until the internal layout of the design was better defined.

The example used in paragraph 1 shows that the —-—-—-—,

1) design development requires a long time to be completed

2) propulsion system is the most important part in ship designing

3) development of the design must be an iterative process

4) shape of the ship is determined under the direct influence of propulsion system
The intelligent guesses ---—-—-—---,

1) evaluate that final structure is the same as the type ship

2) based on previous design present the early solutions

3) ensure whether the type ship is necessary or not

4) can be a guarantee showing the first solutions are not wrong

The underlined word "allowance" in paragraph 2 can be substituted by —----eemeeee- ;
1) consideration 2) maintenance 3) purpose 4) value

It's inferred in the last paragraph that ~——--eeeeeeeeee,

1) every cycle of the design progress contains all design features

2) all design features are not considered at the same time

3) the initial stability is considered following the large angle stability

4) there is a close relationship between the internal layout of design and different types

of stability
The term spiral in paragraph 3 shows that the ship designing is a ~—-—-—--ane-- ‘
1) complex movement 2) confusing system
3) stable assessment 4) steady progression
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